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THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
T AR
= 1 12, 048, 572
A e L
mRiT T
= 1 4,719, 675
WriEfEE 1
= 1 246, 175
B LA 0. Im3KH KU ~—k AL hENL
BV BE A L - BRI B SR ALER
H
&) 1 246, 175 246, 175
AL M AZH T
= 1 1, 400, 700
BRI MfiE TCB M22 X 95 (S10T)
B3Il 46 30, 450 1, 400, 700
HEAKHERS T
= 1 3, 072, 800
TLF TN Fa—T 620 ZFpA B AT
m 33. 14, 524 492, 363
yRe)
= 1 2, 580, 437
NSV UL
= 1 6, 726, 945
JRBSLERERE T
= 1 6, 726, 945
JERSLER (1)
= 1 2,690, 778
IERSLER (2)
K[
= 1 4,036, 167
G an
= 1 601, 952
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THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
AW LT
= 1 601, 952
AW B
= 1 240, 784
AW B
(&)
= 1 361, 168
B TR
= 1 12, 048, 572
I L
= 1 3, 085, 606
HIBGERE
= 1 53,178
et By
= 1 53,178
JE B EEFEAT I ERE
= 1 53,178
HIBGERE (FE L)
= 1 3, 032, 428
Wi
= 1 15, 134, 178
B
= 1 8, 192, 894
T AT
= 1 23, 327, 072
— R
= 1 4,672,928
TS
= 1 28, 000, 000
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THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
THEBLF Y %H
= 1 2, 800, 000
TH#EG
= 1 30, 800, 000
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